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206 Which electric lines connect the substation
to distributors in distribution system? | faa=oT

JUITElT 7 faRent o TolT AT i i AT
facge emger S &

A  Feeders | BIST

B  Distributors | [ddie

C

D

Service lines | AT ST
Service mains | ST AT

207 What is the insulation resistance between
any two conductors in a medium voltage domestic

installation as per IE rules? | IE ?ﬁ'&ﬁ?ﬁﬂ'ﬂﬂ'
FETH deco Te SEcionrls H fhegl a1 dTefent &
ST SgelIeT TTcRIer T 872

A Infinity | 3dded

B More than one Mega ohm | K'EFﬂTIT}ﬂ?TT@T

faw

C  More than two Mega ohms | &l & 31f8e &amm

3eEHA

D  More than three Mega ohms | &l 3T 3EH
& 3ifas

208 What is diversity factor (D.F)? | fafaerar
FR (D.F) FATE?

minimumactualload
A DF=

Installedload
Installedload
minimumactual load

B DF=

C DF = minimuminstalledoad

actual load

D DF = actual load

minimuminstalledload

209 What is the voltage ratio in A.C distribution
line adopted for domestic consumers? | ’EI'QT‘;I'\

3UHIFAT3T F ToIT 379ATS 318 A.C faaRoT a8 7

ATeeST 3eIUTd FAT &2
A 415V/240V
B 240V/110V
C 415V/110V
D 11KVv/415V

210 What is the name of the insulator used in

O.H lines? | 3. oTSi1 & 39T fohT SATeT aTel
S oIeT T ATH FT 87

Pin insulator | fﬁ?rsgﬁar
Post insulator | tﬂ?—?éﬂﬁa

Strain insulator | @HW
Shackle insulator | %‘]aa—c»rsgﬁa

O 0o ®w >

211  What is the name of line insulator? | ollSel
S oIeT T ATH FT 87

A  Pintype insulator | ﬁrrrwsagﬁa

B  Disctype insulator | %FEWEF\@W

C Shackle type insulator | @TWWEF\@W
D Suspension type insulator | IGEECREIRS

Eﬂ‘fs [

212 Which is the permissible load for lighting sub
circuit in domestic wiring as per IE rules? | IE fag&T

o 3TN ERe] AT H 39 Hiche Tl STelled oh foIw

ITHY R T ATE?
A 800W

B 1200W

C 2400W

D 3000W

213  What is the name of the insulator? |
S oIeY Sl oATH FIT 82
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A  Stayinsulator | 1—%3@@3'\"

B  Shackle insulator | ﬂamsgﬂa
C

D

Suspension insulator| fereles gogeicy

Single shed pin insulator | T&3Tel 215 =T
E‘ S

214 What is the reason for the conductor cross-
sectional area can fully utilised on transmission of

DC as compared to AC? | FIT HIRUT &, ST TAT T
oTelT # SIET o SRR TR hseFe shid-HereleTel
& T T G & 3TN & Fehell 572

No heat loss | &S T g1fa 78T

No skin effect | SIS cadT JHTT AGT

No power loss | ﬁé’%ﬂ?ﬂgﬁ;@'

No corona loss | aﬁéaﬁﬂmgﬁa@r

o 0O v >

215 Why the disc pin insulators outer surface is
made by glazing and bent the sides inward? | 3&®

1T § 3 TR 2l 37e ShT I o2t STohT TgT o2
A To withstand high voltage | 3Td alecal &l
HIHAT A & felw

B Not to attract birds to sit on it | 5 T §&1 o
fore afgrat a1 3rei¥a et & farw g

C To offer high mechanical strength | 3T ITTA&
NIEREHCERCEAE LY

D Disables continuous water flow in rainy

season| EI'Gﬁ'ElzT:I;ﬁ IGEGESC R CIREIRGIL: )
EXGIEY

216 What s the type of over head line joint? |
3R 83 TSl TGl hl TehR AT &2

= ¢

A Twisted joint | 3E|D?>T§31T3ﬂ's'
B Straight sleeve joint | TS 3TEdI FT SIS
C Compression joint for ACSR | ACSR & e
.o e
D Straight joint through connectors | FAFed
ATeTH § A SN

217 Why steel is reinforced in ACSR conductors
used for overhead lines? | 31TaXgs ST o [T

STAATS gl dTel ACSR sl H TS bl T
yaferd o Sar &

A To minimize the line sag| EE?T@?T?I'W
X & o

B Toreduce the line voltage drop | c_vl'l??ﬂ'm
19 &l e et o oI T

C Toincrease the tensile strength | d=IdT S&leT
& faw

D Toincrease the current carrying capacity | €I

TG &THT Sl Jale & [T

218 Which type of A.C transmission is universally
adopted? | fhd YR T A.C TOROT Araifds

YA ST &2

Two phase four wire | &I %ol IR dR

Two phase three wire | & %l dle dR

C Single phase two wire | f&3Tel et &I AR
D Three phase three wire | dlel %ol dlel AR

219 Which type of line insulator is used for
terminating on corner post? | FFEHHHT%CTWEP?I?T

& TFH & foIT e JehR o 15T Segeled 1
39T foRar STt 82

A Pininsulator | fﬁ?rgzgw

B  Straininsulator | @Hgﬁw

€@ N|IMI Question Bank

Page 32 of 37



ELECTRICIAN - Semester 4 Module 6 - Transmission and Distribution
Reviewed and updated on: 01% November 2019 Version 1.1

C Shackle insulator | @W%ﬂﬁ?{

D Suspension insulator | GGEG) srg&a

220 What is the reason of keeping binding wire
gap too close and very tight in pin insulator? |

EIEIECIECIERS ?‘rcrﬁqu a1 3R e §geleX
# g ST Bl T FIT HROT &2

A Avoid sparking | T9TfehaT & <1

B Avoid corrosion | &ROT &<

C  Avoid oxide formation | 3iTFTSS STt & &
D Avoid atmospheric pressure | a@ﬂg@'&m
aad

221 What is the name of conductor used on

overhead lines? | 371383 AT8AT OX 39T fhw

SITeT AT} ShgeFe T ATH FAT§?
A ACSR
Aluminium | 3egHifas

B
C Galvanised iron | STEciehd clgl
D Hard drawn copper | ST drdl

222 What is the main purpose of crossarm used
in electric poles? | TaEIT @8 3 ST SHIA3MH T
AT 3T FATE?

A Supporting the line conductors | HISHEF?TRTT
T HERT &l

B Holding the insulators on overhead line |
3NAES ST T SrgeleT Tehgal

C  Avoids short circuit between conductors |
HEFCI o AT ATC Tlhe T FAT ATAT &

D Reduces conductor sag between supports |

HER & o hgered RATASTAT T A HIAT &

223 Which type of line insulator is used at the
dead ends of the H.T overhead lines? | H.T 3laX&s

ATl o A FORT O fohd TehR & ol1g T ele}
T 3TN fhaT ST 8?2

A Pininsulator | ﬁlﬂ'é’{lﬁﬂ

B Discinsulator | %Wsﬁﬁ?(

C Stayinsulator | 1-_?,'3'\'1@?(

D Postinsulator | Wsﬁﬁ?{'

224 What is the advantage of AC power
transmission? | ACWWQHWWW%?
A Corona loss negligible | WWW
B  Stress on transmission lines is minimum |
CIATARI ollSl 9T Telld #gsTcd &

C Low voltage drop in transmission lines |
TafAA o8t 7 e aleest 31T

D Voltages can be stepped up and stepped down

easily | dTeeol & T&T 3T fohaT 1T TehdT & 3R
3T T 313 [T ST @shar &

225 What is ACSR stands for? | ACSR ol Hdeldl
FATR?
A  All Conductors Steel Reinforced

Aluminium Core Steel Reinforced

B
C Aluminium Covered Steel Reinforced
D  Aluminium Conductor Steel Reinforced

226 What is the purpose of cross-arm in O.H
lines? | 31T ST & Sh1H-31TH FT 3T FATE?
A  Provide more support to the O.H pole | 3T,
qrel T 3178 TERT UeTeT Y

B  Protect from short between conductors |
chgerell o oIl STl § T&T Y

C Reduce the sag of the lines between poles |
GFHAT & 1T I I@T3iT Y AT A FH BT

D Holding the insulators where the conductors
are fastened | é{i&C{ Uehs §'U el ol [ o

STehgell

227 What is the advantage of overhead lines
compared to underground cable? | N@?FTW

hY Tl & 3i1a] g3 olTS=il T FIT BIIeT &2

A Public safety is more | Hﬁﬁﬁﬁﬂij}c‘mm
3

B Faults can be located easily | % 3THTT & 9T
A ST Tehl §

C Nointerference with the communication lines

| TR ST oh AT PIS gEAATT Ig
D Not liable to the hazards from lightning

discharges | df3d TREAT T @RI & forw
faeaaaig 7 &
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228  Which substation the transmission line Y I dTel TogHTAIH IS aTol shgaredl U
voltage is stepped down to consumer supply T Y S ;\ =T %?

voltage? | TTATHLIA oISl Alecsl ol Tohdl TATT G

SUHITAT FT Aot 8 & A o7 22 A  Keeping binding turns very close | Srere arer
\ :

A Mobile substation | HTETSeT HIEC2I LAl T -
obile substation o
o ) B Making binding turns very tight | STeIeY aTel
Mining substation | TeleT TEEC AT .
GATAT T HHD TG

B
C Secondary substation | ATEI RS GEECAA

y | C Providing guard wires below the conductors |
D

Distribution substation | fadRoT @aEeer Faaed] & A= S Rt B veT ST
D Providing more than one binding | T &

229 What will happen to the string arrangement

of disc insulators, if one of the disc insulator gets 3178 T USTeT el
damaged? | I f3Eeh segelet &IfAUTA I ST &,
HT%WW@@TWWWWW? 231 What W|II.happen to the sk|.n effect Qn the

2 0.H conductors, if the conductor diameter is small
A  Whole string become useless | CNFI'ITQEHITET (<1cm)? | 3NUT HEFeIT IR cadT & THTT T 4T
ST E B9, 379 HsFed &l T BT g (<lcm)?
B No effect operates normally | 15 &t yaITa A Becomes negligible | 7O &Y ST &
T, FHAT & § HAfoId gIcT & B Increases to maximum | 3T d#d deh §¢ SATAT
C Only the damaged disc will not function | FHad %-
aTfaared 3 I 8T el

C No effect, remain same | aﬂéma'é‘r, a%pf

D Damaged insulator and the adjacent insulator

will not function | FHITE Segeled 3R 38w G I
. D Decreases half of the value | HTeT ST ATHT Y
SogeIeX I et Al
ST g

230 How the sparking on the aluminium cored

conductors binding joints can be prevented? | I E
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